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L. Let G = ({5, 4y, As), (4, B), P, S), where P consisis of
S~ aAjAaa, A = baA,Asb, A = Aab, aA; — baa, bAsh — abab

Test whether w = baabbabaaabbaba
i in L{(G). _ [4 marks]

2. Construct a grammar ( such that

LG) = {w & {a. b} |w has an equal number of &’s and b's}. [4 marks]

3, (Construct a grammar G accepting thc set L of all strings over {a, b} having
mare a's than b's.

[4 mafks}

4. Constryct a grammar G accepting alt strings over {a. b} containing an unequal
nuamber of a's and &'s,

[4 marks]

5. Prove (1 + 00%D) + (1 + 00%1X0 + 10*1)* (8 + 10%1) = 0*1(0 + 10%1)*

| [4 marks]

6. Consider the transition sysiem given in Fig. 5.13. Prove that the sirings
recognized are (a + a(b + aa)*b)* alb + an)* a

Fig. 5.13 Transition system of Example 5.8,

[5 marks]



